molex

one company » a world of innovation

This document was generated on 04/05/2010

PLEASE CHECK WWW.MOLEX.COM FOR LATEST PART INFORMATION

Product Specification PS-54478-001 (PDF)

Part Number: 0587820011
Status: Active
Description: HMC™ Rectangular Industrial Plug Shell Assembly, Single Module Type, For Small
Plug Cover, 12 and 40 Circuits
Documents:
Drawing (PDF RoHS Certificate of Compliance (PDF)

Agency Certification
CSA
UL

General
Product Family
Series
Application
Component Type
Product Name

Type

Physical

Boot Color

Circuits (Loaded)

Durability (mating cycles max)
Flammability

Gender

Lock to Mating Part

Material - Plating Mating
Orientation

PCB Locator

Packaging Type

Panel Mount

Pitch - Mating Interface (in)
Pitch - Mating Interface (mm)
Polarized to Mating Part
Polarized to PCB

Ports

Surface Mount Compatible (SMC)
Temperature Range - Operating
Termination Interface: Style
Waterproof / Dustproof

Electrical

Current - Maximum per Contact
Shield Type

Shielded

Voltage - Maximum

Material Info

Reference - Drawing Numbers
Product Specification
Sales Drawing

LR19980
E29179

I/O Connectors

58782

Panel-Mount, Wire-to-Wire
Hood Bracket

HMC™

N/A

N/A

N/A

50
94V-0
Plug
Yes

n/a
Vertical
No

Bag

N/A
0.000 In
0.00 mm
Yes

N/A

1

No
-40°C to +125°C
N/A

No

35A

Full Shield

Yes

350V AC (RMS)

PS-54478-001
SD-58782-0011

Series
image - Reference only

EU RoHS China RoHS
ELV and RoHS
Compliant

REACH SVHC

Not Reviewed

Halogen-Free
Status

Not Reviewed
Need more information on product

environmental compliance?

Email productcompliance@molex.com
For a multiple part number RoHS Certificate of
Compliance, click here

Please visit the Contact Us section for any
non-product compliance questions.

Search Parts in this Series
58782Series

Mates With
58783-0011 Receptacle Shell Assembly

Use With

58461 Plug Cover, 58462 Plug Cover,
58550 End Bell Cap, 58455 End Bell Cap,
55347 Housing, 54478 Housing, 54296
TerminalLink:54297 Terminal, 55124
Terminal, 55125 Terminal



http://www.molex.com/molex/products/datasheet.jsp?part=active/0587820011_IO_CONNECTORS.xml&channel=Products&Lang=en-US
http://www.molex.com/pdm_docs/sd/587820011_sd.pdf
http://www.molex.com/datasheets/rohspdf/0587820011_rohs.pdf
http://www.molex.com/pdm_docs/ps/PS-54478-001.pdf
http://www.molex.com/molex/products/listview.jsp?query=58782&sType=s
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/cmc_upload/0/000/-12/201/EU_RoHS.html#eurohs
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/cmc_upload/0/000/-12/201/china_RoHS.html#china
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/reach.html
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/halogen_free.html
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/halogen_free.html
mailto:productcompliance@molex.com
http://www.molex.com/molex/electrical_model/rohsCoC.jsp
http://www.molex.com/molex/contact/mxcontact.jsp?channel=Contact Us&channelId=-7
http://www.molex.com/molex/products/listview.jsp?query=58782&sType=s
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=p&query=0587830011
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=58461
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=58462
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=58550
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=58455
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=55347
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=54478
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=54296
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=55124
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=55125

This document was generated on 04/05/2010
PLEASE CHECK WWW.MOLEX.COM FOR LATEST PART INFORMATION



DIMENSIONS IN METRIC DO NOT SCALE DRAWING

MM

N —FABEE—

PEV—TUFx

POLARIZATIONS KEY FOR COVER

PE MARK IDENTIFICATION

b

7 6 4 3 2
s
<
A
[e@)
™~
[se}
ok
o
zZWuw
g @/@
a
i) B+
NOTES

BRSOyt
APPLICABLE PLUG COVER ASS’Y
AT UTILIA T 5846 1-0011 /
RIGHT-ANGLE TYPE
— : 58462-0011 /
SXTEA%H#\ Y;Ej
2. BRNDVUITT T
APPLICABLE HOUSING ASS’Y

1011 (SMALL)
Q11 (SMALL)

b 55347-40*5 (40 CKTS. MAIL HS'G ASS'Y)
o ‘—*—V ) ]-hfl 55348-12%5 (12 CKTS. MAIL HS'G ASS'Y)
3 i I_I [ o 54478-40*5 (40 CKTS. FEMAIL HS'G ASS'Y)
| — | — } 54479-12%5 (12 CKTS., FEMAIL HS'G ASS'Y)
3 = | ! 3. EERQUFDMNITNLY
‘ | RECOMENDED SCREW TIGHTENING TORQUE
| ! ® M3 :5~6kgfe.cm
\ _% @M2.5 : 4~ 5kqf -cm
i \ 4. BRI S NEEHT
APPLICABLE CRIMP TERMINAL FOR GROUND
SEIRE BN ENLIEOERY 1 A BALE SR T 2 EH
73.9 N RING TERMINAL FOR POWER WIRE SIZE OR BIGGER ONE.
69.3
TRESEAS J5 v al M2.5 X6 . .
(4 | Free DRI%VE HEADjSCngs WITH W, —UTILAVF | g
SPRING WASHER(M2.5 6 STEEL, NT PLATING
(EREEMEIAH TR (M3 X5) am = "
(3) | FREE DRIVE HEAD SCREWS WITH ﬁm&gﬁﬁékﬁﬁj 2
W~ SPRING WASHER (M3 y5) ‘ 58782-001I
Mf - N >0 J5UK —= . JLX
M @ %?uc gRgUﬁDy\TERQMINAL ﬁRﬂASS N\JFi{AT[NGJj; 2
@ 757 Il ZIL= "L 5% |
PLUG SHELL ALUMINIUM ALLOY
BiE BmE ma @ 2R2FS
NO. PARTS NAME MATERIAL  |QUANJ] ENG. NO.
MH
o MATERIAL g ™\ MOLEX-JAPAN CO.,LTD.
INDI T BABEF — ZDR moleXpxEL v o RMRRE [—
POLARIZATIONS KEY FOR HOUSING SEE TABLE e ?
ENJ[:SH REVISE ONLY ON CAD SYSTEM
FRSEEE TITLE &K
QEE;NGLE 130 WIRE RANGE —H— ROBOT CONN.
0% 103 53 Y PLUG SHELL ASS'Y -
10 Biek 30 il |0 Lo S (SMALL) g
10 ﬁ&& 02 | () gET?gED (wpsoss |IM 1| serwree A ?0& DWG. NO. (SHETT 10F 3)|REV §
—) 3 |APP - - @
cenral A Rances | CIR | REVISION RECORD | i, DAtk 4 #\‘%}.@ RRe - SD-58782-0011 0 2

THIS DRAWING CONTAINS INFORMATION THAT 1S PRDPRIETARV TO MOLEX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

AREEBAELY TR (5) OFBEIDERESLENT BHOFILULKEHERELT D,

4 3 ‘

2

EN-Q‘IC(QSZ)MXJ-Z:Z



7 6 5 4 3 2
s
[S)
I
N
o
~
o
ok
o
ZzZW
S
=
[=]
E
e 1
- 85 » »
ﬁ m i I i
= Thr—1 5 :_‘HLU’( 1 L:
< = L === I
< IR IRRIRE; < *1lf,“‘,jllr
D INRIRE AL T
IR | I |
L ‘
|
MALE HS'G ASS’Y (40 CKTS.) F
- A 55347-4015 (TYPE A)
€z _ [ 55347-4065 (TYPE B) o 1ne
= o 0
= £ £
a
L
—
<t
(@]
(V2]
—
(@)
=z
o N [ - a1
g ° AAIWNDIT 7t T ESKEN TAXAINNDO T 7yt TES
o FIGURE OF MALE HOUSING ASS'Y WHEN ASSEMBLED FIGURE OF FEMALE HOUSING ASS'Y WHEN AS
&
Ll
= HH
z A MATERIAL
%) SEE SHEET | QF 3
=z
2 AT
% FINISH ——
L =
A = AE ANGLE |0 ’w‘ag"é'g Ncgm .
()] N
308 10.3 77
S L EN S —
% 10 6‘5&; 30 UNdER | 025 DRAWN BY CHK'D
” 10 R 0.2 SEE SHEET | OF 3 \SW ?04
p— N R. T |APP RE
cerciaPRdimces | T8 | mevietot acon |t Do | e | SoRE |
THIS DRAWING CONTAINS INFORMATION THAT IS PGDPMETA(F{V TO”MG.EX(JAPAN) AND SHOL
FEHEEBFEL VIR () OFBIDBRESLLDT BHDFT LIS ERE?
8 7 6 5 4 3 '

‘ ¢



7 6 5 4 3 2
s
8
I
N
o
~
o
ik
o
ZzZW
S
=
[=]
E
— PN
. 1Y . Y
E ilkisaradi g
g | | =
< IRIRRIRL <
D [ ‘ [
IRIERRI
Ty
I T I
MALE HS'G ASS'Y (12 CKTS.)
o 55348-1215 (TYPE A)
cZ
= ]
<t
o
a
L
—
<t
(@]
(V2]
—
(@)
=z
o . o ors e
g ° AI)INDD T 7yt T EEREN TAXAIINDD T 7y TJE
= FIGURE OF MALE HOUSING ASS’Y WHEN ASSEMBLED FIGURE OF FEMALE HOUSING ASS’Y WHEN
=
Ll
= R
z A MATERIAL
" SEE SHEET I0OF 3
=z
5 AT
) FINISH ——
L =
N QE&;NGLE o FEEREE
30 0.3 wENE
f\v EY ) INS. RANGE
= 105k 30 B | 05 DRAWN BY CHK'D
” 10 R 0.2 SEE SHEET | OF 3 \SW ?04
[T R, i |APP RE .
PR nces | T8 nevietot tecom | ] oL | ) | R |
THIS DRAWING CONTAINS INFORMATION THAT IS PGDPNETA(F{V TO”MG.EX(JAPAN) AND SHOL
FEHEEBFEL VIR () OFBIDBRESLLDT BHDFT LIS ERE?
8 7 6 5 4 Y.

3 ‘ :



